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TypHupHaa paboTa no A3bIKO3HaHUIO cocTouT M3 15 3agaHuii Mo OAHOMY W3 HanpaBAeHUM
(aHrnMincKMn, dpaHLY3CKUM, HEMELKMIA A3bikK). Popma 3aJaHMN eaMHa AN1a BCeX HanpasiaeHuin. B
AaHHOM noabopKe npeacTaBaeHbl NPUMEPbI HEKOTOPbIX 3a4aHMN — N0 2 1A KaXK40ro A3blKa.

®PAHLY3CKUN A3bIK

e CoeAWHUB NMHUAMM CNOBA, COCTaBbTe TPOMKKN «MUmAa — Damunua — Pog geatenbHOCTUY.
BnuwuTe HegoCTalOWMe CAOBA U HallaUTe ANA KaXKA0ro M3 HUX COOTBETCTBYIOLLLYIO Napy.

Joe Dumas politique
Jean-Paul Dassin acteur
Alexandre Chirac investigateur

Jacques chanteur
Jacques-Yves Depardieu designer
Gaultier

e [lepeBeguTe NOHATUE HA PYCCKUIA A3bIK.

été nerto
nuage
avion
voyageur

AHITMACKUN A3bIK

e 0603HaubTe 6ykBamu N, V, Adj, Adv. choBa, COOTBETCTBEHHO ABAAIOLLMECA CYLLECTBUTE/IbHbIM,
r1aro/Iom, npuaaratesibHbiM U Hapevymem.

Mark the words with letters N, V, Adj., Adv. Corresponding to noun, verb, adjective and adverb.

Cnoso bykBa
mountain N
scissors
hard
compare
serious

e M3meHUTe CNOBO U3 CKOBOUEK TaK, YTOObI OHM NOAXOAUNM K NPESNIOXKEHMUIO.
Change the word in brackets so that it suits the sentence.

E.g.: The programme was very interesting (interest).

1. Unfortunately, he wasn't at home when we ... . (come)

2.1 ... the review of this film in last number of the newspaper. (read)

3. He cannot go on a skating rink, He is ... now. (sleep)
4.1 didn’t want to go to the cinema yesterday, because | had already ... the film. (see)
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HEMELIKMU A3bIK

e Bnuwwure PYCCKMe aHanorm HemeuKkux nocaosumy

Wie ist es im Rusischen?

www.n-sh.ru

Arbeit ist kein Hase, lauft nicht in den Wald

besser spat als nie

das Werk lobt den Meister

eine Hand wascht die andere

gesagt — getan

e lMopa Ka)kablMm NOPTPETOM BNMCATb MMA YeNOBEKa, N04, KaXKAbIM PUCYHKOM — YTO U306paeHo.
3aTem cocTaBbTe Napbl «4eN0BEK — PUCYHOK» U 06BACHUTE NOrMUYECKYIO CBA3b MeXXAy HUMM.

Unter jedem Bild schreibt, wer/was dargestellt ist. Dann bildet logische Paaren.

bykBa | undpa

noACHeHne




